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Recall coordinate vector

bUt able it caber de lots al

PcaB = [b. ]c --. Ibate

#Choosing basis

V with B=%.. W.n 3 W with C=1..V..m3

so this is also L.T.

Call the LiT matrix
ITIces

• Once again, we can just wiste where each basis ver land.

V = Pa ,
D: P3 - Pa
Find ID]cEB

, W=P=, C=21, x, x3

DIN = O
D(x) = 1
D (x) = 2X
D(×3) = 3x7

[DCI)]c = [8]
[D(X) ]c= [8]
[D(X]c = I8]
[D (X)]c = [:]

So IDICER = 0O

Lec 34

B= Eb.,....ba3

And

[nils =ei [v]s
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via p(x) 's p'(x).
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Ex. Projecting onto b= span((6]) . Suppose B=C=1 = { L61. [%]3


